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T.E & SCERT Exam 2023
(CANDIDATE RESPONSE SHEET)

Roll No
App No
Name
Paper/Subject D.El.Ed(Odia)
Exam Date 30 May 2023
Exam Slot 3

Passage:
The questions are based on a short passage. Read the passage below to answer
the questions. Choose the correct answer from the four listed choices.

Brahmaputra river [Bengali - Jamuna, Tibetan - Tsangpo, Chinese - Yarlung Zangbo] is a

major river of Central and South Asia. For most of its length, the river serves as an important inland
waterway. In its lower course, the river is both a creator and a destroyer—depositing huge
quantities of fertile alluvial soil but also causing disastrous and frequent floods.

The Brahmaputra’s source is the Chemayungdung Glacier. Throughout its upper course, the river is
generally known as the Tsangpo (“Purifier”); it is also known by its Chinese name (Yarlung Zangbo)
and by other local Tibetan names.

After passing Pi (Pe) in Tibet, the river turns suddenly to the north and northeast and cuts a course
through a succession of great narrow gorges between the mountainous massifs of Gyala Peri and
Namjagbarwa (Namcha Barwa) in a series of rapids and cascades. During that stretch, the river enters
northern Arunachal Pradesh state in northeastern India, where it is known as the Dihang (or Siang)
River, and turns more southerly.

The Dihang, turns toward the southwest and enters northeastern Assam state. Just west of the town
of Sadiya, the river again turns to the southwest. Below that confluence, about 900 miles (1,450 km)
from the Bay of Bengal, the river becomes known conventionally as the Brahmaputra (“Son of
Brahma”).

The Brahmaputra enters the plains of Bangladesh after turning south around the Garo Hills below
Dhuburi, India as the Jamuna River. The rivers’ combined suspended sediment load of about 1.84
billion tons peryear is the world’s highest.

Question ID:3011
Topic Name:SECTION-I English Language
Question:

What is the total combined suspended sediment load the river Brahmaputra usually carries?

A 1.84 billion tons per year (approx.) Correct Answer

B 1.94 billion tons per year (approx.)

€ 1.80 billion tons per year (approx.)

D 1.54 billion tons per year (approx.)

Answer Given By Candidate:A
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Question 1D:3012

Topic Name: SECTION-I English Language

Question: According to the passage, the river Brahmaputra is known by how many other names?
A Only Two- Namcha Barwa, Dihang

B Only Three- Tsangpo, Dihang, Siang

C One Only- Tsangpo

D More than three- Jamuna, Tsangpo, Yarlung Zangbo, Dihang ~ Correct Answer

Answer Given By Candidate:D

Question 1D:3013

Topic Name:SECTION-I English Language
Question: How has the author described the river in the passage?

A Unnavigable and destructive throughout the course of the river
B Both a creator and a destroyer in the lower course of the river Correct Answer
€ It's navigable through the course of the river both in India and Tibet

D The river runs in a generally easterly direction throughout its course

Answer Given By Candidate:D

Question 1D:3014

Topic Name:SECTION-I English Language

Question: \What js the synonym for “TWEAK”?
A Communicate

B Greet

C Speak

D Adjust Correct Answer

Answer Given By Candidate:Not Attempted

Question 1D:3015
Topic Name:SECTION-I English Language

Question: Selact the correct synonym of “OBSCURE”.
A Certain
B Definite
Precise

D Unclear Correct Answer

Answer Given By Candidate:B

Question ID:3016
Topic Name:SECTION-I English Language

Question: \What is the Antonym of the word 'Void’?

A Full Correct Answer
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B Vacuum

€ Hole
D Cavity

Answer Given By Candidate:D

Question 1D:3017
Topic Name:SECTION-I English Language

Question: \What is the meaning of "Hit the hay"?
A To beat someone

B Mad at someone

¢ To go to bed Correct Answer

D Feeling slightly ill

Answer Given By Candidate:D

Question ID:3018
Topic Name:SECTION-I English Language

Question: choose the correct meaning of the phrase, “A toss-up”.
A Aresult that is pretty clear.

B A result that is unclear and can go either way. Correct Asaaier

C A result that can be manipulated.

D Having to start all over again.

Answer Given By Candidate:Not Attempted

Question [D:3019
Topic Name:SECTION-I English Language

Question: 1nsert the correct article in the blank given:
He eats _ apple a day.

A an Correct Answer
B the

(Ia

D No article Required

Answer Given By Candidate: A

Question ID:30110
Topic Name:SECTION-I English Language
Question:

Fill in the blank with the correct option:

The supermarket is the street from the signal.
A across Correct Answer

B of
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€ during

D from
Answer Given By Candidate:D
Question 1D:30111

Topic Name:SECTION-I Education and General Awareness
Question: The Regional Institute of Education at Bhubaneswaris a

constituent unit of which body':?
QIERYR 96 AR d8 §HE 69Q L°GIN 9K 2°6?

A NCERT
NCERT

B |IT
T

C State Ministry of Education
AURY S8 FIGSIRA

Correct Answer

D Department of Human Resources
e delm @il

Answer Given By Candidate:Not Attempted

Question 1D:30112
Topic Name:SECTION-I Education and General Awareness

Question:Edycation in India is part of which list in the Indian
Constitution?
QURB1E IERUIFER S 699 UMK IR 2I°6l 266'?

A Supreme Court’s list
gdel 6a1gw SIma
B State List
UGy SImS
€ Union List
4°g GImel

D Concurrent Li_st
Le1TIm1a M|

Answer Given By Candidate:A

Correct Answer

Question ID:30113
Topic Name:SECTION-I Education and General Awareness

Question: \What is the technical name of brewer’s/baker’s yeast?
QUUEIY/ELNY NI 6TVAR FIE R'E?
A Aspergillus Niger

2195 PRGN

B Acﬁc_etoba cter Aceﬁtiﬁ
L6699 Y4o'

WtsApp/Call- 8596976190
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C Lactobacillus

MERUANDNY

D Saccharomyces cerevisiae

dIfleUIcLd 66N

Correct Answer
Answer Given By Candidate:Not Attempted

Question ID:30114
Topic Name:SECTION-I Education and General Awareness

Question: \What is full-form of NCTE?
NCTE Q 9°94} QI¢1 @612

A National Council for Technical Education

RGN 6580 G- VS
B National Council for Teacher Education
Q1212 9 S8 998Q

C National Committee for Teacher’s Education

@RI JI9S S @EIF

D National Council for Training Entrepreneurs

RIS ISIFEl Q6T ARG

Correct Answer

Answer Given By Candidate:C

Question ID:30115
Topic Name:SECTION-I Education and General Awareness

Question: The Tashkent Agreement was signed in which year?
QII6RE 9B 659 9Y YVNG 6LIRNMI?

A 1966
1966

B 1970
1970

C 1965
1965

D 1956
1956

Answer Given By Candidate:D

Correct Answer

Question ID:30116
Topic Name:SECTION-I Reasoning

‘
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Question: Statement:
1. Box L is heavier than Box M.
2. Box N is heavier than Box L.
3. Box M is heavier than Box N.
If statements 1 and 2 are TRUE, what can you say about statement 3?
Q96:
1.9 L 9g M OIQ QIR 269" |
2.9 NQg LOIQ QIR 269 |

3.9 M 9g 98 OIQ QIR 216E |

€9 996 1 99° 2 96Y 266, 6969 96 3 TVACR S §'6 FLUAINCS?
A Statement 3 is definitely TRUE.
Q96 3 096 QR 96 26T |

B Statement 3 is definitely FALSE.
596 3 Fae @ue6a fenl 269

Correct Answer

C Statement 3 either true or false.

Q9@ 3 96 @au gl

D" Statement 3 may not be FALSE.
QQE 3 fl2 6L RedleR|

Answer Given By Candidate:Not Attempted

Question 1D:30117
Topic Name:SECTION-I Reasoning
Question: | 3 certain code, ‘ANSWER’ is coded as ‘PIZBUF’ and ‘MONEY’ is coded as

TGIUQ'. How is ‘WORSE’ coded in the same code?

e Q6 I6RE6Q, ALY G ‘PIZBUF 98° ‘€16 § RI6S TGIUQ! 691G
FAUAIREG | AENG A6RB6R ‘A9’ AR Y6 FAUCII?

A BGFZU
BGFZU

Correct Answer

B BGIzU
BGIZU

¢ BGQzU
BGQZ
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D BGFTU
BGFTU

Answer Given By Candidate:Not Attempted

Question ID:30118
Topic Name:SECTION-I Reasoning
Question: |n 3 certain code, 'GARB' is written as 'HEAR'. How will 'DROP' be written in that code?

95 GE) 96669, 'DIR"g 'HEAR' 691M 6MAIING | 698 6@E6R '8’
@dol emelda?

A EWXF
EWXF

B EUWG
EUWG
C EuxG
EUXG

D EVXF
EVXF

Correct Answer
Answer Given By Candidate:D

Question ID:30119
Topic Name:SECTION-I Reasoning
Question: What should come at the place of question mark (?) in the following humber series?

15, 32, 66, 134, 270, 542, ?
QEIms]e oSl 6516162 IF0T (?) LIN6R @€ 2ITQI ATG?
15, 32, 66, 134, 270,542,?
A 1084
1084

B 1086 Correct Answer
1086

C 1082
1082
D 1088
1088

Answer Given By Candidate:B

Question ID:30120
Topic Name:SECTION-I Reasoning

Question: \What should come at the place of question mark (?) in the following letter series?
ZA, YB, XC, WD, ?
ﬁ‘ﬁ]@%j‘t? 2% 656165 Qﬂ@‘fg‘ (?) HIR6Q @8l 2D AGG?

ZA, YB, XC, WD,?

‘
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A UE
UE
B UF
UF
C VF
VF
P VE Correct Answer
VE

Answer Given By Candidate:D

Question 1D:30121

Question: St dents are not actively involved or responsive. In this strictest form of
class management style, it is quite likely that a student not following the
set rules. There is no scope for friendly student-teacher relationships in

this overly structured style.

Identify the Classroom management style.
RISCNCE AT QULER AP 9l ETAUSIR 98 | 66161 AASIRG!
6AMA € F60I0QUER, R64 RIS FHNG FAF AIRE @ AR 62IY
AL QER | 98 ALY 9°0106 6ERIER Ble-GNde! Aftaa 6alad
gealol QIZ |

6g619)E JTIRGI 68m1 090 AG|

A Authgritative
diclsla

B Authoritarian

AT

¢ Indulgent

QG

D Permissive

aAaqE

Correct Answer

Answer Given By Candidate:A

Question 1D:30122
Topic Name:SECTION-I Teaching Aptitude

Question: Teaching is essentially a collaborative exercise and nothing defeats
collaboration. Hence collaborative skills:

SRISIY RE8 9 A6dlioh AL 98° 691619 KON IL6dIog
doUL K69 QIS | 684 L6dIDN SV

A Help in team dynamics, convergent and divergent thinking.
QROIC JeHNNe], AEKE Y9° WG Tl AILlLY aogl

Correct Answer

‘
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B Will discourage independent thinking.
QRIG FLRING TQLIETE FR6S |

C Are Good only at work place

6990 FCl68E6R am

D None of the Above .
QUEAB CIRIQ 6Q1ELT g6L

Answer Given By Candidate: A

Question 1D:30123
Topic Name:SECTION-I Teaching Aptitude
Question:Students feel safe in sharing ideas, there may be disagreement,

but with that social connectivity, conflict is civil and respectful.
The result is:
QQUIZhalee UG QEL[N6ER FAUDLQ AGRT A8, L6
6QINAIER, TG 698 AANGS 6AN6AG DS °AY QARG 9g°
AEIFRTR 26T | PRITH 6228:

A Individuals feel comfortable speaking up.

URBCN6R @2 FERN6R dLR UGN FAE |

B Positive conducive atmosphere in a classroom and active participation.

6616156 LRIAUASR AGTR QUSITRE IQ° AGA 2°6I6IR4] |

€ Sharing of ideas and debating over the contextual ideas.

UG UGS IF° FIQEPS NGl QU6 Feq 99! |

D All of the above.
QAU 1L

Answer Given By Candidate; D

Correct Answer

Question 1D:30124

Topic Name:SECTION-I Teaching Aptitude

Question:Edycation seeks to grow the overall personality of the learner. Which are
the domains that is very essential for the holistic development of the
child?

AR SR AAFR QUBRY 98 ARG 60 K62 | FgR AATR

SR8 IR 699 6LI6F1R ABVYS FPRT?

A Spiritual and Mental
ARIGR 6 FIedR

B Mental and Emotional
A9de 9Q° el

C Spiritual, Mental, Emotional and physical
dlRIFS, AI99e, USRS 99° IR

Correct Answer

‘
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D Physical and Emotional
SIS 9G° WwIF]

Answer Given By Candidate:D

%:j;\cn‘(\}:nlllziggl?]Oh] Teaching Aptitude

Question: A key ability of successful student is that the student know’s how to motivate
effectively. The skill of being able to start and finish tasks rigorously is what
solidifies the chances at being successful overall. What kind
of motivation is most important?

AR BRI IS deJ8l QUOI 6908 K18 R dRILIRT QIN6H QLIS

A9 @l6dl | Rl GYINEG QI6R 2 KR! 99° 6618 AR FVG!

@ AEIfa Q6T APR 68NN AALRIG 9F 02N | 69R IR 69Nl
d90IQ FReqsl?

A Extrinsic Motivation only

69am Qe edodll

B |ntrinsic Motivation only

6am 2lieNis 646l

C Both Extrinsic and Intrinsic Motivation

Qi QLY 99° 2IYsN1E 6l

Correct Answer

D Neither Extrinsic nor Intrinsic Motivation

QILY A9l 2RSS 6dRE QIE

Answer Given By Candidate:C

Question ID:30126
Topic Name:SECTION-I Teaching Aptitude

Question: Edycational problems include problems related to cognitive skills, teachers’
and parental motivation in any field of interest shown by the child is essential.
This encourages the child in:

SIRAIGIS LYl F1RI6R RIS 6QlSIR g1 A1y, TR 9Q° LIS

6968l IRl G191 6QSIKIRAR] 2L 6469169 6FS6R 2RIy

269 | 9G] §igq QLT F6R:

A Sharpening the skills required to keep up with the passion and area of interest.

QEIL ¥S° 2IGLR 688 926 SRIL YS! AIN AR 6R1HIRG 15
a9l |

B Choosing easy going life
Aen K190 098 29l

C Becoming a non-committed individual.

@66l 2AGYGT QU MG

Correct Answer

D All of the above
QUCAW 1D
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Answer Given By Candidate:D

Question I1D:30127
Topic Name:SECTION-I Teaching Aptitude
Question: Qvercrowded environments affect the understanding levels of school

children. Which are the statements you agree with, for the betterment
of education in school system?

ReoeRgd 09659 Im dniw 9N G JEISE KRN |

FRURA UGRIER NN QL6 IR S 696 T9E e ALAe?

A With growing population the student teacher ratio in a classroom also
needs to increase
@@2)Ql Wad°olUl d¥'e 696l9LEn Bl SN Gl ¢1d 9K 649l
dloslia

B It hardly matters, learners will learn anywhere.

W26 BB TG UGS QIE, aRhrles 66916d YRR FH6S

Correct Answer

€ Well-ventilated and spacious classrooms are not nheeded for any child’s
academic development.
6al61d dRIE SNITS G914 dIR OR SIGISNE.8 5N 686M9eR
LSS S1E |

D All of the above
LEICOUD Leld

Answer Given By Candidate:Not Attempted

Question 1D:30128
Topic Name:SECTION-I Teaching Aptitude
Question: |dentify the academic influences from the given options regarding the

libraries which are resources for learning.

§96 AR IR 281 AIOIFIQ IAF6R QAR FRFYLCIQ 65187 RIS TLT FAG

A _Encourages the growth of independent learners and development of
Vocabulary of Students.
qng S8Rl 2098 99° RIeRIRlw I90dIR Saldq 6JIAEe
@e |

B |t is only a storehouse for books.
JGl 699% 9 AN 99 Q€I |

C Decreases comprehension and reading abilities.

FEIEN B 0K V1B L Al |

Correct Answer

D |t is the hub to meet different people.
0Q 6MINT 6959 AN 99l 29 26T |

Answer Given By Candidate:Not Attempted

Question 1D:30129
Topic Name:SECTION-I Teaching Aptitude

‘
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Question: Time management is defined as using time productively and efficiently. You
as a teacher should:

dflel JARIRG| AF10qg QISAHIR Y9° QISIA L QYLLIR /99!
QUIER YISl AU | REE TR QUEDA 2T FYNYL 699 VD!

A Constructively use time by prioritizing the check list.
d8 @Iﬁﬂﬁm‘lﬁi IINRS! 69D g SlORE]mT LIS QULLID Kagl

Correct Answer

B Give importance to social media stuff, as it is very important.

6dIdem 162 GEEq 999 G2y, ARG el 2Aeus 9eegd |

€ Complete concept teaching in twenty minutes of the period allotted.

QeIte AR 20 AG56R gdtd UG SIS |

D Talk to students for first twenty minutes and complete the task in last ten
minutes.

gelel 20 A7 RIeRISIE 98 K2l gAP 9L° 6619 G4 FIRe6R QIdy
agd aag |
Answer Given By Candidate: A

Question ID:30130
Topic Name:SECTION-I Teaching Aptitude

Question: \fjsyal drawing skills, Communication skills, Vocabulary, graphics, Photography
etc. are the teaching learning materials which:

Qg en° @Y, 6LlsledItl QUG FNedIq, giPg, PeTIGI
QSIS | SINE 196l DICigh ALl

A Create distractions in class

6666 TRIT 9% [0

B Influence positive atmosphere in class for learning

{56l QIR 6E1616R AR FUBINAEG RIS GG

Correct Answer

C Are time wasters

eI 9 F6]

D Create confusion in students

2eRIgT FRIER 99 98 99

Answer Given By Candidate:Not Attempted

Question 1D:30131
Topic Name:SECTION-II Odia Language

Question: /' QQ 2R 19T F9?

A qal Correct Answer

Bq@
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Answer Given By Candidate: A

Question 1D:30132
Topic Name:SECTION-II Odia Language

Quetion: CpQIEN, BRAIR, BRIIACNEE SIERY FS6R 261 694G A6M €12l
69899 AVIFTRA ARIQR1 BT AER §] 7€ | OF 98 AR
FRIQ 69% FER ITIR ALLNE 266 ?

-

QGQ@,GQ'@!,GQ@,@GQ ,qﬂﬂ, Qé Correct Answer

6413,669R. 99 2Tg

‘6918 61@,9619,2IR88, AIRAIR

=

29, 06,6010, 99, I, SR

Answer Given By Candidate:B
Question ID;30133

Topic Name:SECTION-1I Odia Language

Qe 6@ RN §187?

A 6RENA AT IR 61

B Q@ 96 §a Cotfect Answer
¢ rQue €19

P QIRR &R

Answer Given By Candidate:B

Question 1D:30134
Topic Name:SECTION-II Odia Language

Question: _  __ = - "
QEMEIE ol Gu@ £1AU6R 6@W FINER 'L’ YLD QUSLIR 6L ?

A

)]
1D

Q

)

C

q

P Qg Correct Answer

(&)
D

==

Answer Given By Candidate: A

Question 1D:30135
Topic Name:SECTION-II Odia Language

" Qde 9RT6 606 UGUAR QUTIR 6TIRE?
A9

Bqa
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¢ ade Correct Answer
P ga

Answer Given By Candidate:B

Question ID:30136
Topic Name:SECTION-II Odia Language

Question: §+2Icp = | §RINIFEQ QIS QAYB GG @4 ?
A g4 Correct Answer

b gee

C q@

D gay

Answer Given By Candidate:A
Question ID:30137
Topie Name:SECTION-II Odia Language

P 0Q 900G TIRR 6RIER AR F'E'GES ?

b 21918 902 SR I8
e QQ- 6elell g‘l@ Correct’Answer

¢ Qd QR 999 61IY

P 6emal 6N 6SM

Answer Given By Candidate:C

Question ID:30138
Topic Name:SECTION-IT Odia Language
Question:

6QIX QU6 ARGl T8I QRTQ 961 '€ 9Ea?
A g3el QEER 88! i A

5 @él 2lgel

¢ €96l QU6R 996!

> ¢Q 6RINER FIIGQ!

Answer Given By Candidate:A

Question ID:30139
Topic Name:SECTION-II Odia Language
Question:

WtsApp/Call- 8596976190

AUA6Q 9T AR UAUALLRIQ TRIT FVQG 6QF 2R K10 LM |

60SIRE 2°6 HRQ6E R69IB FRIR 6QQS QUTIA AEM QIRYTA 2d6a

641468 0RQER 689 QI ?
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4 60¢l R4 6LIRDR

=

GR6Q QRS

¢ ﬂﬁ@ 0§§JQ| Correct Answer
P 6RgQl 624l

Answer Given By Candidate:C

Question 1D:30140

Topic Name:SECTION-IT Odia Language
Question: 6RQIT QG TG ?

A agal

B Qe

¢ afo

D gea Correct Answer
Answer Given By Candidate: A

Question ID:30141

Topic Name:SECTION-II Odia Language

Question: Qe 086 €6 ?

A gdel

B gomeal

¢ Qigel Qorrect Answer
D gy

Answer Given By Candidate: A

Question 1D:30142

Topie _!\'amc:SI-I(‘ [TON-1I Odia Language

Question: ‘pioionl’ S1RQ AF 606 QTG ?

A arqge

B am"@

C gede

= POV Correct Answer
Answer Given By Candidate:B

Question 1D:30143

Topic Name:SECTION-II Odia Language

Question: 150" REAITY UGG, F6HTE! R6R A1 699 ?
A Ag0a

B agoae
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C a5 Correct Answer
D SR8

Answer Given By Candidate:C

Question ID:30144
Topic Name:SECTION-II Odia Language

Question: ' Glog1ia,” 0@ 666 0@ ?

A Qeeay

B Geemeal Correct Answer

C adpe
D Qal

Answer Given By Candidate:D

Question ID:30145
Topic Name:SECTION-II Odia Language
Question: = S o
deR due 6@6 Q6EI8S] 6HIP6LQ 7

A ool Correct Answer

B gl
C QR
D 2RI

Answer Given By Candidate:D

Question ID:30191
Topic Name:SECTION-IT Mathematics

Question: Mr, Razzagincurs a loss of 20% by selling an article for Rs. 5600. At what price
should the article be sold to earn a 25% profit?

691N -GEEG 5600 TR AF QT T ARIR 20% VS ALRS| 25% RN
RS IR 6Q% IMY6A DIFgh OF QAL K6e?

A" Rs, 5400
Rs. 5400
B Rs. 7500
Rs. 7500
C Rs. 7000
Rs. 7000
D Rs. 8750 Correct Answer
Rs. 8750

Answer Given By Candidate: B

Question ID:30192
Topic Name:SECTION-1I Mathematics

‘
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Question: ghaana invested Rs. 7500 in a bank at the rate of 5% per annum. At simple

interest, she got Rs. 10500. How long did she invest the money?

91 QIER 5% LINER IR QUIFER 7500 FF1 F6QF AR | ARIAE A6
64 10500 9@ IR6M | 69 6R6E Q@ 20 o'l LEAD FR2eM?

A pyears
6 d

B 9years
9 Qg

C 8years
8 qy

Correct Answer

D 10 vyears
1099
Answer Given By Candidate:Not Attempted
Question ID:30193
Topic Name:SECTION-II Mathematics
Question: The compound interest on Rs 8000 at 40% per annum for 6 months,

compounded quarterly is:
6 €119 QIR QITR 40% LINEH 8000 Tl AAECH G‘QQE‘ g, A°6Re
6G¢1IER 6065 629

A Rs 1680
Rs 1680

Correct Answer

B Rs 9680
Rs 9680

C Rs 6400
Rs 6400

D Rs 1260
Rs 1260

Answer Given By Candidate:Not Attempted

Question I1D:30194
Topic Name:SECTION-II Mathematics

Question: \\/hat js the number, which when divided by 5, 7 and 12 gives 1 as
remainder?

YER 60 9°6iI 213, IQ1 5, 7 99° 12 69 SO18 AUGIEM 1 AUCIEES
QARG?

A 421 Correct Answer
421

B 402
402

‘
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C 400
400
D 420
420

Answer Given By Candidate:D

Question ID:30195

Topic Name:SECTION-II Mathematics

Question: Tyyo numbers are in the ratio 4: 3. If the sum of numbers is 63, find the
numbers.

Q@G o8l 4: 3 AGAIGER 2R | AT L°HUIGGRR 6NGICPR 63
269, 6669 L°HUIGET A81R 99 |

A 27and 34
27 99° 34
B 36 and 27 Correct Answer
36 949° 27
C 32and24
3249Q° 24
D 24 and 32
24 4%° 32

Answer Given By Candidate:B

Question ID:30196
Topic Name:SECTION-II Mathematics

Question: The ratio of the number of red, blue and green coins in a bagis5:3 : 2
respectively . If there are 16 green coins, find the number of red coins in the
bag.

@ QU] 6512191 M, @16 99° 96 €91 D°oMIQ 298 L2Ig6E 5:3: 2

2691 915 16 8 9% €9 2R, 6669 QUID 6% MM £]915 L°614 L |

A, 16
16

B 24
24

C 40  Correct Answer
40

D 20
20

Answer Given By Candidate:B

Question 1D:30197
Topic Name:SECTION-1I Mathematics
Question: [f a circle has a radius of 5 cm, what is its circumference?

G 6515 Q@9 QUICIS 5 cm, 6668 IRIR AT K617

‘
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A 30.6cm
30.6cm

B 32.1cm
32.1cm

C 31.4cm Correct Answer
314cm

D 332cm
33.2cm

Answer Given By Candidate:C

Question 1D:30198

Topic Name:SECTION-II Mathematics

Question: The sum of the angles of a triangle is:

IR GRE0 6Q189Ga0 AR 6998

A 90 degrees
90 g1

B 180 degrees
180 @91

C 270 degrees
270 @91

D 360 degrees
360 @91

Answer Given By Candidate:B

Correct Answer

Question ID:30199
Topic Name:SECTION-II Mathematics
Question: |n 3 right angled triangle, the side opposite to the right angle is called:

QILIE 6916 AER SRWER, VILIE 6RNIER FANS Alq GRILIN:

A Hypotenuse Correct Answer
ad

B Base

2o

C Altitude
VoGl

D Perpendicular

el

Answer Given By Candidate: A

Question ID:301100
Topic Name:SECTION-II Mathematics
Question: Which of the following systems of equations has infinitely many solutions?

FIRGYS AR MR FRIQ 6FGTD AGSES AENUIE 2AR?

A x+3y=7,4x+6y=14 Correct Answer
2x+3y=7,4x+by=14
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3x-by=9,2x-4y=8
3x-by=9,2x-4y=8

X-y=3,2-8y=6
Xx-y=3,2x-4y=6

x+y=5,2x+2y=8
x+y=5,2x+2y=8

Answer Given By Candidate:C

Question 1D:301101
Topie Name:SECTION-1I Mathematics
Question: Which of the following methods can be used to solve a system of linear equations?

6061@ ANARER 9T QULYIR AARIIG KRR Ul FIMS FRIP 696 INT FISLIR
FoldIndIen?

A

Substitution method
LeRlaHs1g 95gIge A8%

Elimination method

FEMIOR a8

Graphical method
olere 9886

All of the above Cotrect Answer
QU6 Le1g

Answer Given By Candidate;C

Question 1D:301102
Topic Name:SECTION-1I'Mathematics
Question:\What is the complement of a set?

66159 699 JRF @'61?

A

The set of all elements that are in the set
6‘2.]@‘6%} ?,‘Iﬁa‘I €18 QUIQINR 649

The set of all elements that are not in the set

64665 0¢)Q1 dfl9 UILIRR 649

The set of all proper subsets of the set
6€Q0 df19 dq% QUELF0 64T

The set of all subsets of the set
640'0 19 QUEHF0l 64T

Answer Given By Candidate: A

Question ID:301103
Topic Name:SECTION-II Mathematics
Question: Which of the following is a commutative property of set union?

GYRYS FIQ 60QT AR AR I8 SARREN gad 26e?

A

‘

AUB=BUA Correct Answer
AUB=BUA

Correct Answer
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B AU(BUC)=(AUB)UC
AU(BUC)=(AUB)UC

C AUA=A
AUA=A

D AU Q) =
AUD=A

Answer Given By Candidate: A

Question ID:301104

Topie Name:SECTION-IT Mathematics
Question:What is the square of 3x + 4y?

3x + 4y QL 96 @€
A Ox? + 8xy + 16y2
9x? + 8xy + 16y?

B Ox? + 24xy + 16y*
9x? + 24xy + 16y?

Correct Answer

C 9x2- 8xy + 16y?
9x? - 8xy + 16y?
D 9x? + 24y?
Ox* + 24y?
Answer Given By Candidate:B
Question ID:301105

Topic Name:SECTION-II Mathematics
Question: What is the value of V144 + V2567

V144 +V256 Q )Y Q617

A28 Correct Answer
28
B 138
38
€ 30
30
D 32
32

Answer Given By Candidate: A

Question ID:301106
Topic Name:SECTION-II Social Science
Question: The most important possession for the Aryans was

the ;
2idycies aim €d90IR SJQQ‘EJQ 29I ZJml |

A Horse
(NAL%
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B Spoked wheels

6913 &R

C Dogs
999

D Cows Correct Answer
ollm

Answer Given By Candidate:B

Question ID:301107
Topic Name:SECTION-II Social Science
Question: \Whg is the first ruler of Gupta dynasty?

99 @°dla gelel slge @2
A Chandragupta-|

o499

B Chandragupta-ll
eRgg-I

C Samudragupta

qe]999

D Harshavardhana

A (AN

Correct Answer

Answer Given By Candidate:C

Question ID:301108
Topic Name:SECTION-II Social Seience

Question: “Satj Pratha” in India was abolished due to the effort of:

QARGER "SGR U@ gL 69115 A6RE 6QIRYM:

A _Raja Rammohan Roy

[l BULIEENL S Clleh

Correct Answer

B Swami Vivekananda

qiel Q6QQIRE
C |shwar Chandra Vidyasagar
QYR 0F QUISISIR

D Swami Dayananda Saraswati

glel Qe IO

Answer Given By Candidate: A

Question 1D:301109
Topic Name:SECTION-II Social Science
Question: \Who wrote a book named “Gulamgiri”?

"GRIFTA" QIS 98 98 T 6RI6R?

WtsApp/Call- 8596976190
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A Shri Narayan Guru

o]l @IS G

B B.R. Ambedkar
Q.21 21689

C lyotirao Phule
6QUITRUBG FEm

Correct Answer

E.V. Ramaswamy Naicker
L6 QUAYIEN YNNI

Answer Given By Candidate:C

Question ID:301110

Topic Name:SECTION-II Social Science

Question: \Which of the following constitutional amendment added “Secular
“and “Socialist” words in the preamble of the constitution in the

year 1976

FINGS 9AIS Lo6SIRIE FRIQ 69K 1976 FIBIRIEA ARG
gI9aI6Q "AHGRAEUN" I9° "AEIRIIQT 619 6<IGR

A nd .
42 Correct Answer

42561

B 44"
44%5¢]

C 52nd
520¢]

D 68th
68G'¢]

Answer Given By Candidate:Not Attempted

Question ID:301111
Topic Name:SECTION-II Social Science
Question: How many members of constituent assembly signed the Constitution of India?

A SUAR RN 6R6S RE IGLY ARG FAUFER IV FRT?

A 385
385
B 284 e )
284 Correct Answer
C 299
299
b 292
292

Answer Given By Candidate:B

‘
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Question 1D:301112
Topic Name:SECTION-II Social Science
Question: \What is the state religion of India?

QAR UG @6 ?

A Hindu
Qg

B |slam
mEmlie]

C Christian
SN2

D Secular
S [N

Correct Answer

Answer Given By Candidate:D

Question ID:301113
Topic Name:SECTION-II Social Science

Question: \which schedule of the Indian constitution deals with the division
of powers between the union and the states?

QNG AFJGR 66 AFYS169 6aE B AURY FRIER AT
ainl[alafal lalNap /TN a[alalFalally [atap)

A First Schedule
g2t 2g< o

B Second Schedule

o1 2g'4o1

¢ Seventh Schedule Correct Answer
LYl 2geon

D Fourth Schedule
egel 29961

Answer Given By Candidate:Not Attempted

Question ID:301114
Topic Name:SECTION-II Social Science

Question: \Which of the following committee recommended for three tiers
“Panchayati raj System” in India in 19577

QOmets FRIQ 699 /FF 1957 FITLIER ANGER SR
"AHAGAUR ISF" AR ARG KR2URI?

A K.V. Kamath committee

6.6 @lcle] RAT

‘

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

BPEIQ AA8 GF QA g4 Q9 AN

WtsApp/Call- 8596976190
Download “Tech Of World” App

B C.Rangarajan Committee

4. QErelag Q60

C Balwant Rai Mehta Committee

IMEe QY 6£169G1 REIT

Correct Answer

D P.K. Mehta Committee
0.69. 6516291 245

Answer Given By Candidate:D

Question ID:301115
Topic Name:SECTION-II Social Science

Question: Word “Steppe” is related to which of the following biomes?

a9 "6%4" GIRYS 699 QleTle] ITE AARS?

A ~
Grassland Correct Answer

WI<Elm

B Tropical Forest
QAYRTYR FoPM

C  Desert
ﬂ@@‘ﬁ

D Coniferous Forest

a5 99 AorR

Answer Given By Candidate:B

Question ID:301116
Topic Name:SECTION-II Social Science
Question: \What js the meaning of the word “doldrums”?

"ERAEY 922 @6

A The zone with no winds
e @2l 2gn

Correct Answer

B The zone with strong winds

goR deg de 9% 2890

C The zone with no rainfall

Qdl @olql 98 28R

D The zone with heavy rainfall
geom odl 9 9T 28a

Answer Given By Candidate:C

Question ID:301117
Topic Name:SECTION-II Social Science

‘
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Question: The oil-field is the oldest in India.
65w 692 AUALCA Ag90I gell |

A Haldia
encl

B Bombay High
Q6% il

€ Digboi
Qol6aIg

Correct Answer

D Mangala
¢lPml

Answer Given By Candidate:B

Question ID:301118
Topic Name:SECTION-II Social Science
Question: The main purpose of the Farakka barrage is to:

FAF QIERER B AEHEY 6LRAR:

A Bring more area under irrigation

2R UARG KRELSR ANFER NS

Supply drinking water
Al @R 64918 YRS

Meet the power shortage
@gqe QS sl Q@I

Preserve and maintain navigation
60L6019R 9° -6 99° QYEIERYE A0S

Correct Answer
Answer Given By Candidate:Not Attempted
Question ID:301119
Topic Name:SECTION-II Social Science
Question: \Which among the following pairs is NOT CORRECT?
1. Prime Meridian — Longitude

2. Tropic of Cancer — Longitude
3. Equator — Latitude

YIRS 6AIPERIQ 690G OF §6L?
1. g¢J81 QS 9Q - QI
2. 966 696l — Glael

3. Qg9 698l - 2K

‘
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A land2
1992
B 1and3
19Q°3
C Only3
oaem 3
D Only2 Correct AnswerCorrect
6000 2 Answer

Answer Given By Candidate:B

Question ID:301120
Topic Name:SECTION-II Social Science

Question: \n/hat is the total number of latitudes and longitudes respectively on the earth?
216 L2lig6s! 2[°sl 3 Gl de]<leh ool 6966

A 181 and 360
181 YS9 360

Correct Answer

B 360 and 181
360 Y9° 181

€ 90and90
90 Y%° 90

D 180 and 180
180 99 180

Answer Given By Candidate:D

Question 1D:301121
Topic Name:SECTION-II Science
Question: |f the temperature is increased, the volume of a fixed mass of gas at

constant pressure:

€9 PIA9IgI 98 QAU, TSR FIU6R IR QEY GYIFR AR

A Increases Correct Answer
%@ i
B Decreases

wied iy

C remains constant

do a@elg

D None of the above

QU6 FIR 6S1EET §6%

Answer Given By Candidate:B

Question 1D:301122
Topic Name:SECTION-II Science

‘
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Question:Rate of evaporation with in surface area.
LYgFeA a4ee QYNNI €I I
A increases, increase

Q& ang, 9&

B increases, decrease

Q& ang, 219 99

C decreases, increase

QI9 g4, §8 aIg

D None of the above

QUEAUS IR 6QI6AT Q6%

Answer Given By Candidate:B

Question 1D:301123
Topic Name:SECTION-II Science
Question: The amount of solute present in a given amount (mass or volume) of
solution or solvent is:
92 Q1 §RER ¥R REY ARG (99 |1 ARFE) 62 [ LLEIR AR
6Las:
A Density
AL

B Concentration

Qlg el

C Colloid
69,8 O

D Alloy
698 09

Answer Given By Candidate:Not Aftempted

Correct Answer

Question ID:301124
Topic Name:SECTION-1I Science
Question:\Which one of the following reactions is a balanced reaction?

@ﬂ@%l@ e el 6205 99 El@f—ﬁ"@ goaal 2667
A Zn(s) + 0,(g) — Zn0,(s)
Zn(s) + 0,(g) = Zn0,(s)

B Zn(s) + Cl(g) = ZnCl,(s)
Zn(s) + Cl(g) — ZnCl,(s)

C Zn(s) + Cl(g) — ZnCl(g)
ZH(S) T C](g) — ZI]Cl(g)

D Zn(s) + H,504(aq) — ZnS0,(aq) + H,(g)
Zn(s) + H,S0,(aq) — ZnS0,(aq) + H,(g)

Answer Given By Candidate:B

Question ID:301125
Topic Name:SECTION-II Science

‘
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Question:Which one of the following is a double displacement reaction?

QRS FRIQ 6995 IR JF TS ASTA 2657

A Light
2H,0,(1) — 2H,0(1) + 0,(g)

Light
2H,0,(1) — 2H,0(1) + 02(g)

B 2Ca(s) + 0,(g) — 2Ca0(s)
2Ca(s) + 0,(g) — 2Ca0(s)

C HBr(aq) + KOH(aq) = KBr(aq) + H,0(l)
HBr(aq) + KOH(aq) — KBr(aq) + H,0(I)

b Mg(s) + PbCl,(aq) » MgCl,(aq) + Pb(s)
Mg(s) + PbCl,(aq) —» MgCl,(aq) + Pb(s)

Correct Answer

Answer Given By Candidate:C

Question ID:301126
Topic Name:SECTION-II Science
Question: The Gravitational force (F) between Earth (mass M, radius R) and an object

(mass m) lying on the surface of the earth is:
121 (LR M, QIS R) MQ° €291 gHES! 291 90 Q9 (99 m) £146R
291 FIRISHS OF (F) 6298

A GMmR?
GMmR?

B GMm/R?
GMm/R?

C GMm/R
GMm/R

D GMm/R?

GMm/R? Correct Answer
m

Answer Given By Candidate:Not Attempted

Question 1D:301127
Topic Name:SECTION-II Science
Question: Petroleum is

6I6TIMELEl 628

A arenewable source of energy

A 99 @RE6LISN QL

B an unlimited reserve
@ 241616 4°él
C a non-conventional source of energy

JBR IR AE-ANAG QL

D a fossil fuel

R 01915 D@9

Answer Given By Candidate:D

Correct Answer

Question 1D:301128
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Question: A bus travels 18 Km in 60 minutes. The speed of the bus in m/s is ?
69lIoNg Q4 60 Aa06a 18 FEMIFTR IS @@l | m/s 6 Qe Q 690l
@'él?

A 3
3

B 90
90

C 25 Correct Answer
25

b 5
5

Answer Given By Candidate: A

Question I1D:301129
Topic Name:SECTION-II Science
Question:The colourless fluid present inside the chloroplastsin a plant is

4% QEIG6R 6CAYIVCRIES 29I AFL1R S9R 9912 6208
|

A grana

9Ll

B Thylakoid
2mlcRNe

C Stroma

6%I€1l

Correet Answer

D Lamellae

mMIGEIeR

Answer Given By Candidate:B

Question ID:301130
Topie Name:SECTION-II Science
Question: are commonly referred to as the powerhouses of a plant cell.

ARIINEIBE QWS 6RIFR AIGIALIAL 691 QLI |

A Mitochondria ——
FlInegIaael ‘orrect Answet
B Chloroplasts
cRleRUNRL
C Ribosomes

Q6N

D Lysosomes

MG

Answer Given By Candidate: )

Question ID:301131
Topic Name:SECTION-II Science
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Question: The exchange of gases with the atmosphere mainly takes place through
of a plant.
QIYFIaR 996 IR YR F614e8 Y d8 CIRIFIER
6Ll |
A nodes
98
B Stems

@lel

C Bark
I

D Leaves Correct Answer
1315

Answer Given By Candidate:D

Question 1D:301132

Topie Name:SECTION-II Science

Question:The specific areas where cells divide actively and which contribute to the
growth of a plant are called ’

GEY 688 6090169 689G ITH AISER TRIFE §9 99° ALl 99

IR R 6LICILIS K6 6NN Qi |

A Meristems

6EIRETE]

Correct AnSwer

B Lenticels

6mA6an

C Mesoderms
6rleQIgd

D Epitheliums
gdealmael
Answer Given By Candidate:Not Attempted
Question ID:301133
Topic Name:SECTION-II Science
Question:The ability of a flowering plant to physiologically respond to the length of
day or night is called
G@ Q9 AT 6TCIg SINRR AIER IETN 6991 AR 99 TR I8
HeLIg QLI |
A periodism
aaeaae
B hemostasis

6L6EIRILY

C photoperiodism

PESIGIPREl

D apoptosis

2lcleYPLe

Correct Answer

‘
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Answer Given By Candidate:C

Question I1D:301134
Topic Name:SECTION-II Science
Question:Which of the following microbes can turn carbon dioxide into oxygen?

QEmee FRIQ 3=} @191¢] QSR GIRAFINLY AN AASIS
RQAIAER?
A Slime mould

URE] 6€1IR,

B Streptococcus
6RO6YERNL

C Cyanobacteria

JRIER YRR

D Yeast

o'

Answer Given By Candidate: B
Question I1D:301135

Topic Name:SECTION-II Science
Question: bacteria live in gut and help in digestion.

@191¢] g8 6MA 6d96R Q19 K9S |

A Streptococcus

6R6YERIRY

B Cyanobacteria

deleRIYIe|a2

C Staphylococcus
YPeMIERINY

D Lactobacillus —
ﬁﬂle@gqmmg‘ orrect Answer

Answer Given By Candidate:C
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